N = 0 &8 AF S & Al A
20108 & 20A H=EZ2ABREI|= A
M BAA
M HERABNEIIZ
ol ABXE)3 R (ZERMENEDD) (Erol: &2
SH-EH . O3 - MBAY - BAS 0l aF ol Soe HRZ2
B2 18,437 31,550 A13,113
== 5,800
iy 12,637
SBEZASEEIZ 5,800 27,750 A 21,950
== 5,800
AZIEI S (HEZAEZXNEIS) 5,800 27,750 A21,950
== 5,800
SARSINAAIY =&(EH|) 5,800 8,200 N 2,400
= 5,800
206 M &HI 1,000 1,000 0
= 1,000
01 M=Hl 1,000 1,000 0
O AlE+=HH| 10,000& * 1008 = 1,000
= 1,000
301 2EtEAZ 4,800 7,200 A2,400
== 4,800
12 JIEtE &3 4,800 7,200 A2,400
O AHITAES AN BSH|
40,0003 = 49 = 30 4,800
= 4,800
MREss(8HA) 12,637 3,800 8,837
BEIES(HEZAENEIS) 12,637 3,800 8,837
(E=INE=1: PN 12,637 3,800 8,837
602 Ol X2 12,637 3,800 8,837
01 MIXIZ2 12,637 3,800 8,837
O =2 221 WX 12,637,000 12,637




